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Note: This question paper contains two parts A and B.
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marks and may have a, b as sub questions.

1.a) How Internet differs from Intranet? 121

, ' c) What is meant by clock skew and clock drift? 12)
d) Write a short note on the Berkeley's algorithm for synchronizing clocks. t3]

i........j ! ". g) befine iocation i.r*rpuiun"y andiPetforrnance transparbncy. '. ' i 121 . 
i i i

h) What is meant by the Domain Name System? t3l
i) Define ACID properties of transaction. l2l
j) Give an example for the inconsistent retrievals problem. t3]
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2. Discuss the major challenges to be considered in the design of a Distributed system.

[10]
OR

3. Describe the Client-server and Peer-to-Peer architectural models with neat diagrams and
:' ' mention their characteristics. t10]

\ ': : 
E*Blain,;briefly aboUl veclor clocki'wjth an illustrativti exalnple. ,:'' ", i ,r.' ;' ":' i r

i:1"..'1" 1 i'^':'' 4.a)
'/ i ' b) De;,riieshapshotitgbritnmofCharidyandlamport;-"' 1' ''""" ; ' [5+5'] 

I 
"

OR
5. How to implement mutual exclusion between processes in a distributed system using

Maekawa's algorithm? Explain. [10]

.-... ,.. -.6. Describe. the rqle.. of ..yarious ._objects, modules. and. components,. involved -in. the...

;,-,,,; i ..,, , implemgntation o:f Rli.I wlth a neat diagram. i;, ,,i. ;...... ..i ';, ',,t. i .i t10] i i ."i

7. Explain TCP stream communication protocol with a sample code using Java APIs.[10]
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10.

Describe the Sun Network file system architecture and also mention the design goals of
NFS. t10l

OR
Mention the advantages and disadvantages of X.500 directory service.
D-iieuds the concebt of Directory sertic6s "' i' ": I : ' 'r i , 15#51 i ,
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Summarize the drawbacks of locking mechanism and explain optimistic concurrency
control mechanism. t10l

OR
11. Explain in detail about Two-phase commit protocol with its merits and demerits. t10l
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